doodlelearning Year 4 Maths Worksheet
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Solve the following addition and subtraction problems.

® ®
345 + 278 = 823 + 107 =
® O,
1,037 + 612 = 562 - 389 =
® ®
718 - 532 = 6,204 - 4,398 =
\, J
f® )
There are 581 Lions fans and
212 Tigers fans at the football a —
game. How many more Lions
fans than Tigers fans are at
the game? J :
581 Lions fans 212 Tigers fans
\_ J
( )
Gemma has 130 beads for bracelets. She
gives 75 beads to Piper and 24 beads to
Claire. How many beads does Gemma
have left?
L J
4 A
® Amelia has 56 sweets and wants to share
them equally with 8 of her friends. How
many sweets does each friend get?
\ J
10 Emma went to the shop with £20. She

bought a book for £7.50 and a toy for
£4.75. How much money does she have
left?



